

## A NEW SUBCLASS OF BAZILEVIC FUNCTION WITH FIXED ARGUMENT INVOLVING NEW GENERALIZED DIFFERENTIAL OPERATOR AND HYPERGEOMETRIC FUNCTION

S.O. OLATUNJI , I.T. AWOLERE

ABSTRACT. In this work, a new subclass of Bazilevic function with fixed argument involving new generalized differential operator and hypergeometric function were considered. Coefficient estimates, distortion theorems, extreme points, radii of convexity and starlikeness for the class  $T_n^\alpha(q, s, \mu, \lambda, \delta, a, \beta, A, B)$  and  $T_n^\alpha(\theta, q, s, \mu, \lambda, \delta, a, \beta, A, B)$  were defined.

### 1. INTRODUCTION

Let  $T$  denote the class of function of the form

$$f(z) = z + \sum_{k=2}^{\infty} a_k z^k \quad (z \in U) \quad (1)$$

which are analytic in the unit disk  $E = z : |z| < 1$  and normalized by  $f(0) = f'(0) - 1 = 0$ .

Recall that  $Re \frac{zf'(z)}{f(z)} > 0$  refers to as a starlike function while  $Re \left(1 + \frac{zf''(z)}{f'(z)}\right) > 0$  refers to as a convex function.

Also, let  $T^\alpha$  denote the class of functions of the form

$$f(z)^\alpha = \left( z + \sum_{k=2}^{\infty} a_k z^k \right)^\alpha \quad (z \in E) \quad (2)$$

are analytic in the unit disk  $E = z : |z| < 1$  and normalized by  $f(0) = f'(0) - 1 = 0$  where  $\alpha > 0$  and  $\alpha$  is real. Using Binomial expansion in (2), we obtain

$$f(z)^\alpha = z^\alpha + \sum_{k=2}^{\infty} a_k z^{\alpha+k-1} \quad (z \in E) \quad (3)$$

Researchers like [1], [3], [10], [9] and the likes have used (3) to define several classes of analytic functions and their interesting result are too voluminous to discuss.

---

2010 *Mathematics Subject Classification.* 30C45, 26A33; Secondary 33C20.

*Key words and phrases.* Analytic function, Generalized differential operator, Hypergeometric function, Starlike function, Convex function, Convolution.

Submitted Sep. 11, 2016.

Recently, [4] defined a differential operator as follows :

$$D_{\mu,\lambda,\delta}^0(a, \beta)f(z) = f(z)$$

$$D_{\mu,\lambda,\delta}^1(a, \beta)f(z) = \left(1 - \frac{\beta(\lambda - a)}{\mu + \lambda}\right) f(z) + \frac{\beta(\lambda - a)}{\mu + \lambda} z f'(z) + \frac{\delta}{\mu + \lambda} z^2 f''(z)$$

and for  $m = 1, 2, 3, \dots$

$$D_{\mu,\lambda,\delta}^m(a, \beta)f(z) = D_{\mu,\lambda,\delta}(a, \beta) \left( D_{\mu,\lambda,\delta}^{m-1}(a, \beta)f(z) \right)$$

If  $f(z)$  is given by (1), then from the above operator, we get

$$D_{\mu,\lambda,\delta}^m(a, \beta)f(z) = z + \sum_{k=2}^{\infty} \left[ 1 + \frac{(k-1)[(\lambda-a)\beta + k\delta]}{\mu + \lambda} a_k z^k \right] \quad (4)$$

for  $f \in T, a, \delta \geq 0, \beta, \lambda, \mu > 0$  and  $m \in N_0$ .

By specializing the parameters surrounded the operator, we obtained numerous operators studied by [2], [6], [13] and [14].

Therefore, applying (4) in (3), we have the following

$$D_{\mu,\lambda,\delta}^0(a, \beta)f(z)^\alpha = f(z)^\alpha$$

$$D_{\mu,\lambda,\delta}^1(a, \beta)f(z)^\alpha = \left(1 - \frac{\beta(\lambda - a)}{\mu + \lambda}\right) f(z)^\alpha + \frac{\beta(\lambda - a)}{\mu + \lambda} z (f(z)^\alpha)' + \frac{\delta}{\mu + \lambda} z^2 (f(z)^\alpha)''$$

and for  $m = 1, 2, 3, \dots$

$$D_{\mu,\lambda,\delta}^m(a, \beta)f(z)^\alpha = D_{\mu,\lambda,\delta}(a, \beta) \left( D_{\mu,\lambda,\delta}^{m-1}(a, \beta)f(z)^\alpha \right)$$

If  $f(z)$  is given by (1), then from the above operator, we get

$$D_{\mu,\lambda,\delta}^m(a, \beta)f(z)^\alpha = \left(1 + (\alpha - 1) \left(\frac{\beta(\lambda - a) + \alpha\delta}{\mu + \lambda}\right)\right)^m z^\alpha + \sum_{k=2}^{\infty} \left(1 + \frac{(\alpha + k - 2)[(\lambda - a)\beta + (\alpha + k - 1)\delta]}{\mu + \lambda}\right)^m a_k(\alpha) z^{\alpha+k-1} \quad (5)$$

where the parameters as earlier defined. Varying the parameters involved in (5), it gives birth to many operators which serves as a new generalization in this direction. Two analytic function  $f$  and  $g$  written as  $f * g$  denote the the convolutions of two functions given by

$$(f * g)(z) = z + \sum_{k=2}^{\infty} a_k b_k z^k.$$

For complex parameters,

$$\psi_1, \dots, \psi_q \quad \phi_1, \dots, \phi_s \quad (\phi_j \neq 0, -1, -2, \dots; j = 1, \dots, s),$$

by

$${}_qF_s(\psi_1, \dots, \psi_q; \phi_1, \dots, \phi_s; z) = \sum_{k=0}^{\infty} \frac{(\psi_1)_k, \dots, (\psi_q)_k}{(\phi_1)_k, \dots, (\phi_s)_k} \frac{z^k}{k!}$$

( $q \leq s + 1; q, s \in N_0 = 0, 1, 2, \dots; z \in E$ ), where  $(\omega)_k$  is the pochammer symbol defined, in terms of the Gamma function  $\Gamma$ , by

$$(\omega)_k := \frac{\Gamma(\omega + k)}{\Gamma(\omega)} = \begin{cases} 1 & k = 0 \\ \omega(\omega + 1)\dots(\omega + k - 1) & (k \in N = N_0/0) \end{cases} \quad (6)$$

Corresponding to a function  $h(\psi_1, \dots, \psi_q; \phi_1, \dots, \phi_s; z)$  defined by

$$h(\psi_1, \dots, \psi_q; \phi_1, \dots, \phi_s; z) = z {}_qF_s(\psi_1, \dots, \psi_q; \phi_1, \dots, \phi_s; z),$$

we consider a linear operator

$$H(\psi_1, \dots, \psi_q; \phi_1, \dots, \phi_s) : A \longrightarrow A,$$

defined by the convolution

$$H(\psi_1, \dots, \psi_q; \phi_1, \dots, \phi_s) f(z) := h(\psi_1, \dots, \psi_q; \phi_1, \dots, \phi_s) f(z).$$

It is observed that, for a function  $f(z)^\alpha$  of the form (3), we have

$$\begin{aligned} & H(\psi_1, \dots, \psi_q; \phi_1, \dots, \phi_s) D_{\mu, \lambda, \delta}^m(a, \beta) f(z)^\alpha \\ &= \left(1 + (\alpha - 1) \left(\frac{\beta(\lambda - a) + \alpha\delta}{\mu + \lambda}\right)\right)^m z^\alpha + \sum_{k=2}^\infty \Gamma_k^{-1} \left(1 + \frac{(\alpha + k - 2)[(\lambda - a)\beta + (\alpha + k - 1)\delta]}{\mu + \lambda} a_k z^k\right)^m a_k(\alpha) z^{\alpha+k-1} \end{aligned} \tag{7}$$

where

$$\Gamma_k = \sum_{k=0}^\infty \frac{(\phi_1)_{k-1}, \dots, (\phi_s)_{k-1}}{(\psi_1)_{k-1}}, \dots, (\psi_q)_{k-1} \cdot (k-1)! \tag{8}$$

The linear operator comprises of other operators has been considered by, [5], [6], [8] and [12].

Let  $q, s \in N$  and suppose that the parameters  $\psi_1, \dots, \psi_q$  and  $\phi_1, \dots, \phi_s$  are positive real numbers. Also, let

$$0 \leq \theta \leq \pi, 0 \leq B \leq 1 \quad -B \leq A < B.$$

## 2. LEMMA AND DEFINITIONS

For the purpose of this present investigation, the following Lemma and definitions are necessary:

**Lemma [11]** Let  $f$  be a function of the form

$$f(z) = \sum_{k=1}^\infty a_k z^k \quad (z \in U) \tag{9}$$

analytic in  $E$ . If  $f \prec g$  and  $g$  belongs to convex then  $|a_k| \leq 1 \quad (k \in N)$ .

**Definition 1** Let  $T_n^\alpha(q, s, \mu, \lambda, \delta, a, \beta, A, B)$  denote the class of functions  $f(z) \in T^\alpha$  satisfying the following condition

$$\frac{H(\psi_1, \dots, \psi_q; \phi_1, \dots, \phi_s) D_{\mu, \lambda, \delta}^m(a, \beta) f(z)^\alpha}{\left(1 + (\alpha - 1) \left(\frac{\beta(\lambda - a) + \alpha\delta}{\mu + \lambda}\right)\right)^m z^\alpha} \prec \frac{1 + Az}{1 + Bz} \tag{10}$$

**Definition 2** Let  $T_n^\alpha(\theta, q, s, \mu, \lambda, \delta, a, \beta, A, B)$  denote the subclass of the class  $T_n^\alpha(q, s, \mu, \lambda, \delta, a, \beta, A, B)$  of functions of the form (7) such that  $arg(a_n) = \theta$  for  $a_k \neq 0 (k \in N)$ .

In particular, for  $q = s + 1$  and  $\psi_{s+1} = 1$ , we write

$$T_n^\alpha(\theta, q, s, \mu, \lambda, \delta, a, \beta, A, B) = T_n^\alpha(\theta, s, \mu, \lambda, \delta, a, \beta, A, B) \quad (q = s + 1, \psi_{s+1} = 1).$$

Thus, we can write every function  $f(z)^\alpha$  from the the class  $T_n^\alpha(\theta, q, s, \mu, \lambda, \delta, a, \beta, A, B)$  in the form

$$f(z)^\alpha = z^\alpha + e^{i\theta} \sum_{k=2}^\infty |a_k(\alpha)| z^{\alpha+k-1}. \tag{11}$$

### 3. MAIN RESULTS

Here, the coefficient estimates, distortion theorems, extreme points, the radii of convexity and starlikeness for the class  $T_n^\alpha(\theta, q, s, \mu, \lambda, \delta, a, \beta, A, B)$ . Also, the coefficient estimates for the class  $T_n^\alpha(q, s, \mu, \lambda, \delta, a, \beta, A, B)$  were derived.

**Theorem 1** If a function  $f(z)^\alpha$  of the form (3) belong to the class  $T_n^\alpha(\theta, q, s, \mu, \lambda, \delta, a, \beta, A, B)$ , then

$$\sum_{k=2}^{\infty} \Gamma_k^{-1} \left( \frac{(\mu + \lambda) + (\alpha + k - 2)(\beta(\lambda - a) + (\alpha + k - 1)\delta)}{(\mu + \lambda) + (\alpha - 1)(\beta(\lambda - a) + \alpha\delta)} \right)^m |a_k(\alpha)| \leq \frac{B - A}{\sqrt{1 - B^2 \sin^2 \theta - B \cos \theta}} \tag{12}$$

where  $\Gamma_k$  is defined in (8)

**Proof.** Let a function  $f(z)^\alpha$  of the form (3)  $T_n^\alpha(\theta, q, s, \mu, \lambda, \delta, a, \beta, A, B)$ . Then by (10) and the definition of subordination, we have

$$\left( \left( 1 + (\alpha - 1) \left( \frac{\beta(\lambda - a) + \alpha\delta}{\mu + \lambda} \right) \right)^{-m} z^{-\alpha} \right) (H(\psi_1, \dots, \psi_q; \phi_1, \dots, \phi_s) D_{\mu, \lambda, \delta}^m(a, \beta) f(z)^\alpha) = \frac{1 + A\omega(z)}{1 + B\omega(z)}$$

where  $\omega(0) = 0$  and  $|\omega(z)| < 1$  for  $z \in E$ . Thus we obtain

$$\left| \frac{\frac{H(\psi_1, \dots, \psi_q; \phi_1, \dots, \phi_s) D_{\mu, \lambda, \delta}^m(a, \beta) f(z)^\alpha}{\left( (1 + (\alpha - 1) \left( \frac{\beta(\lambda - a) + \alpha\delta}{\mu + \lambda} \right) \right)^m z^\alpha} - 1}{\frac{BH(\psi_1, \dots, \psi_q; \phi_1, \dots, \phi_s) D_{\mu, \lambda, \delta}^m(a, \beta) f(z)^\alpha}{\left( (1 + (\alpha - 1) \left( \frac{\beta(\lambda - a) + \alpha\delta}{\mu + \lambda} \right) \right)^m z^\alpha} - A} \right| < 1.$$

Hence, by (7), we have

$$\left| \sum_{k=2}^{\infty} \Gamma_k^{-1} \left( \frac{(\mu + \lambda) + (\alpha + k - 2)(\beta(\lambda - a) + (\alpha + k - 1)\delta)}{(\mu + \lambda) + (\alpha - 1)(\beta(\lambda - a) + \alpha\delta)} \right)^m |a_k(\alpha)| z^{k-1} \right| \tag{13}$$

$$< \left| B - A + B e^{i\theta} \sum_{k=2}^{\infty} \Gamma_k^{-1} \left( \frac{(\mu + \lambda) + (\alpha + k - 2)(\beta(\lambda - a) + (\alpha + k - 1)\delta)}{(\mu + \lambda) + (\alpha - 1)(\beta(\lambda - a) + \alpha\delta)} \right)^m |a_k(\alpha)| z^{k-1} \right| \quad z \in E$$

where  $\Gamma_k$  is defined by (8). Putting  $z = r(0 \leq r < 1)$ , we find that

$$|\omega| < |B - A + B\omega e^\theta| \tag{14}$$

where for convenience

$$\sum_{k=2}^{\infty} \Gamma_k^{-1} \left( \frac{(\mu + \lambda) + (\alpha + k - 2)(\beta(\lambda - a) + (\alpha + k - 1)\delta)}{(\mu + \lambda) + (\alpha - 1)(\beta(\lambda - a) + \alpha\delta)} \right)^m |a_k(\alpha)| r^{k-1}$$

Since  $\omega$  is a real number, by (14) we have

$$(1 - B^2)\omega^2 - [2B(B - A)\cos\theta]\omega - (B - A)^2 < 0. \tag{15}$$

Solving this inequality with respect to  $\omega$ , we obtain

$$\sum_{k=2}^{\infty} \Gamma_k^{-1} \left( \frac{(\mu + \lambda) + (\alpha + k - 2)(\beta(\lambda - a) + (\alpha + k - 1)\delta)}{(\mu + \lambda) + (\alpha - 1)(\beta(\lambda - a) + \alpha\delta)} \right)^m |a_k(\alpha)| r^{k-1} \leq \frac{B - A}{\sqrt{1 - B^2 \sin^2 \theta - B \cos \theta}} \tag{16}$$

which upon letting  $r \rightarrow 1^-$ , readily yields the assertion (12) of Theorem.

**Theorem 2** If a function  $f$  of the form (3) belong to the class  $T_n^\alpha(\pi, q, s, \mu, \lambda, \delta, a, \beta, A, B)$ ,

then

$$\sum_{k=2}^{\infty} \Gamma_k^{-1} \left( \frac{(\mu + \lambda) + (\alpha + k - 2)(\beta(\lambda - a) + (\alpha + k - 1)\delta)}{(\mu + \lambda) + (\alpha - 1)(\beta(\lambda - a) + \alpha\delta)} \right)^m |a_k(\alpha)| \leq \frac{B - A}{1 + B} \quad (17)$$

where  $\Gamma_k$  is defined in (8).

**Proof.** By the virtue of Theorem 1, we only need to show that the condition (17) is sufficient. Let a function  $f(z)^\alpha$  of the form (11) satisfy the condition (17). Then, in view of (13), it is sufficient to prove that

$$\left| \sum_{k=2}^{\infty} \Gamma_k^{-1} \left( \frac{(\mu + \lambda) + (\alpha + k - 2)(\beta(\lambda - a) + (\alpha + k - 1)\delta)}{(\mu + \lambda) + (\alpha - 1)(\beta(\lambda - a) + \alpha\delta)} \right)^m |a_k(\alpha)| z^{k-1} \right| \quad (18)$$

$$- \left| B - A - B \sum_{k=2}^{\infty} \Gamma_k^{-1} \left( \frac{(\mu + \lambda) + (\alpha + k - 2)(\beta(\lambda - a) + (\alpha + k - 1)\delta)}{(\mu + \lambda) + (\alpha - 1)(\beta(\lambda - a) + \alpha\delta)} \right)^m |a_k(\alpha)| z^{k-1} \right| < 0, \quad z \in E$$

Indeed, letting  $|z| = r (0 < r < 1)$ , we have

$$\left| \sum_{k=2}^{\infty} \Gamma_k^{-1} \left( \frac{(\mu + \lambda) + (\alpha + k - 2)(\beta(\lambda - a) + (\alpha + k - 1)\delta)}{(\mu + \lambda) + (\alpha - 1)(\beta(\lambda - a) + \alpha\delta)} \right)^m |a_k(\alpha)| z^{k-1} \right| \quad (19)$$

$$- \left| B - A - B \sum_{k=2}^{\infty} \Gamma_k^{-1} \left( \frac{(\mu + \lambda) + (\alpha + k - 2)(\beta(\lambda - a) + (\alpha + k - 1)\delta)}{(\mu + \lambda) + (\alpha - 1)(\beta(\lambda - a) + \alpha\delta)} \right)^m |a_k(\alpha)| z^{k-1} \right|$$

$$\leq \left( \sum_{k=2}^{\infty} \Gamma_k^{-1} \left( \frac{(\mu + \lambda) + (\alpha + k - 2)(\beta(\lambda - a) + (\alpha + k - 1)\delta)}{(\mu + \lambda) + (\alpha - 1)(\beta(\lambda - a) + \alpha\delta)} \right)^m |a_k(\alpha)| r^{k-1} \right)$$

$$- \left( B - A - B \sum_{k=2}^{\infty} \Gamma_k^{-1} \left( \frac{(\mu + \lambda) + (\alpha + k - 2)(\beta(\lambda - a) + (\alpha + k - 1)\delta)}{(\mu + \lambda) + (\alpha - 1)(\beta(\lambda - a) + \alpha\delta)} \right)^m |a_k(\alpha)| r^{k-1} \right)$$

$$< (1+B) \sum_{k=2}^{\infty} \Gamma_k^{-1} \left( \frac{(\mu + \lambda) + (\alpha + k - 2)(\beta(\lambda - a) + (\alpha + k - 1)\delta)}{(\mu + \lambda) + (\alpha - 1)(\beta(\lambda - a) + \alpha\delta)} \right)^m |a_k(\alpha)| - (B-A) \leq 0, \quad (20)$$

which implies that  $f \in T_n^\alpha(\pi, q, s, \mu, \lambda, \delta, a, \beta, A, B)$ .

**Theorem 3** If a function  $f(z)^\alpha$  of the form (3) belongs to the class  $f \in T_n^\alpha(\theta, q, s, \mu, \lambda, \delta, a, \beta, A, B)$

$$z^\alpha - \frac{(B - A) ((\mu + \lambda) + (\alpha - 1)(\beta(\lambda - a) + \alpha\delta))^m}{\Gamma_2 ((\mu + \lambda) + \alpha(\beta(\lambda - a) + (\alpha + 1)\delta))^m \sqrt{1 - B^2 \sin^2 \theta - B \cos \theta}} z^{\alpha+1} \leq |A_{\mu, \lambda, \delta}^n f(z)^\alpha| \quad (21)$$

$$\leq z^\alpha + \frac{(B - A) ((\mu + \lambda) + (\alpha - 1)(\beta(\lambda - a) + \alpha\delta))^m}{\Gamma_2 ((\mu + \lambda) + \alpha(\beta(\lambda - a) + (\alpha + 1)\delta))^m \sqrt{1 - B^2 \sin^2 \theta - B \cos \theta}} z^{\alpha+1}$$

where  $\Gamma_k$  can be obtained from (8).

**Proof.** From (3), we have

$$|f(z)^\alpha| \leq z^\alpha + \sum_{k=2}^{\infty} |a_k(\alpha)| z^{\alpha+k-1} \quad 0 < |z| < 1.$$

Using (12), we get

$$|f(z)^\alpha| \leq z^\alpha + \frac{(B - A) ((\mu + \lambda) + (\alpha - 1)(\beta(\lambda - a) + \alpha\delta))^m}{\Gamma_2 ((\mu + \lambda) + \alpha(\beta(\lambda - a) + (\alpha + 1)\delta))^m \sqrt{1 - B^2 \sin^2 \theta - B \cos \theta}} z^{\alpha+1} \quad 0 < |z| < 1.$$

Similarly, we get

$$|f(z)^\alpha| \geq z^\alpha - \frac{(B - A)((\mu + \lambda) + (\alpha - 1)(\beta(\lambda - a) + \alpha\delta))^m}{\Gamma_2((\mu + \lambda) + \alpha(\beta(\lambda - a) + (\alpha + 1)\delta))^m \sqrt{1 - B^2 \sin^2 \theta - B \cos \theta}} z^{\alpha+1} \quad 0 < |z| < 1$$

which completes the proof.

**Theorem 4** If a function  $f(z)^\alpha$  of the form (3) belongs to the class  $f \in T_n^\alpha(\theta, q, s, \mu, \lambda, \delta, a, \beta, A, B)$

$$\begin{aligned} \alpha z^{\alpha-1} - \frac{(\alpha + 1)(B - A)((\mu + \lambda) + (\alpha - 1)(\beta(\lambda - a) + \alpha\delta))^m}{\Gamma_2((\mu + \lambda) + \alpha(\beta(\lambda - a) + (\alpha + 1)\delta))^m \sqrt{1 - B^2 \sin^2 \theta - B \cos \theta}} z^\alpha &\leq |(A_{\mu, \lambda, \delta}^n f(z)^\alpha)'| \\ &\leq \alpha z^{\alpha-1} + \frac{(\alpha + 1)(B - A)((\mu + \lambda) + (\alpha - 1)(\beta(\lambda - a) + \alpha\delta))^m}{\Gamma_2((\mu + \lambda) + \alpha(\beta(\lambda - a) + (\alpha + 1)\delta))^m \sqrt{1 - B^2 \sin^2 \theta - B \cos \theta}} z^\alpha \end{aligned} \tag{22}$$

where  $\Gamma_2$  can be obtained from (8).

**Proof.** From (3), we have

$$|(f(z)^\alpha)'| \leq \alpha z^{\alpha-1} + \sum_{k=2}^{\infty} (\alpha + k - 1) |a_k(\alpha)| z^{\alpha+k-2} \quad 0 < |z| < 1 \tag{23}$$

Using (12), we get

$$|(f(z)^\alpha)'| \leq \alpha z^{\alpha-1} + \frac{(\alpha + 1)(B - A)((\mu + \lambda) + (\alpha - 1)(\beta(\lambda - a) + \alpha\delta))^m}{\Gamma_2((\mu + \lambda) + \alpha(\beta(\lambda - a) + (\alpha + 1)\delta))^m \sqrt{1 - B^2 \sin^2 \theta - B \cos \theta}} z^\alpha \quad 0 < |z| < 1.$$

Similarly, we get

$$|(f(z)^\alpha)'| \geq \alpha z^{\alpha-1} - \frac{(\alpha + 1)(B - A)((\mu + \lambda) + (\alpha - 1)(\beta(\lambda - a) + \alpha\delta))^m}{\Gamma_2((\mu + \lambda) + \alpha(\beta(\lambda - a) + (\alpha + 1)\delta))^m \sqrt{1 - B^2 \sin^2 \theta - B \cos \theta}} z^\alpha \quad 0 < |z| < 1,$$

which completes the proof.

**Theorem 5** Let  $f \in T_n^\alpha(\pi, q, s, \mu, \lambda, \delta, a, \beta, A, B)$  and

$$z^{\alpha-1} - \frac{(B - A)((\mu + \lambda) + (\alpha - 1)(\beta(\lambda - a) + \alpha\delta))^m}{(1 + B)\Gamma_k((\mu + \lambda) + (\alpha + k - 2)(\beta(\lambda - a) + (\alpha + k - 1)\delta))^m} z^{\alpha+k-1} \quad k \geq 2$$

if and only if it can be expressed in the form

$$f(z) = \sum_{k=0}^{\infty} \varphi_k f_k(z)$$

where  $\varphi_k \geq 0$  and  $\sum_{k=0}^{\infty} \varphi_k = 1$  and  $f_k$ 's for  $k \geq 0$  are the points for  $T_n^\alpha(\pi, q, s, \mu, \lambda, \delta, a, \beta, A, B)$ .

**Proof.** Let

$$\begin{aligned} f(z) &= \sum_{k=0}^{\infty} \varphi_k f_k(z) \\ &= \left( 1 - \sum_{k=2}^{\infty} \varphi_k \right) z^\alpha + \sum_{k=2}^{\infty} \varphi_k \left( z^{\alpha-1} - \frac{(B - A)((\mu + \lambda) + (\alpha - 1)(\beta(\lambda - a) + \alpha\delta))^m}{(1 + B)\Gamma_k((\mu + \lambda) + (\alpha + k - 2)(\beta(\lambda - a) + (\alpha + k - 1)\delta))^m} z^{\alpha+k-1} \right) \\ &= z^\alpha - \sum_{k=2}^{\infty} \varphi_k \frac{(B - A)((\mu + \lambda) + (\alpha - 1)(\beta(\lambda - a) + \alpha\delta))^m}{(1 + B)\Gamma_k((\mu + \lambda) + (\alpha + k - 2)(\beta(\lambda - a) + (\alpha + k - 1)\delta))^m} z^{\alpha+k-1} \end{aligned}$$

which proves that  $f \in T_n^\alpha(\pi, q, s, \mu, \lambda, \delta, a, \beta, A, B)$ . Since

$$= \sum_{k=2}^{\infty} \frac{(1 + B)\Gamma_k((\mu + \lambda) + (\alpha + k - 2)(\beta(\lambda - a) + (\alpha + k - 1)\delta))^m}{(B - A)((\mu + \lambda) + (\alpha - 1)(\beta(\lambda - a) + \alpha\delta))^m}$$

$$\left[ \varphi_k \frac{(B-A)((\mu+\lambda) + (\alpha-1)(\beta(\lambda-a) + \alpha\delta))^m}{(1+B)\Gamma_k((\mu+\lambda) + (\alpha+k-2)(\beta(\lambda-a) + (\alpha+k-1)\delta))^m} \right]$$

$$\sum_{k=2}^{\infty} \varphi_k < 1 - \varphi_1 \leq 1.$$

Conversely, suppose that  $f \in T_n^\alpha(\pi, q, s, \mu, \lambda, \delta, a, \beta, A, B)$  then using we set

$$\varphi_k = \frac{(1+B)\Gamma_k((\mu+\lambda) + (\alpha+k-2)(\beta(\lambda-a) + (\alpha+k-1)\delta))^m}{(B-A)((\mu+\lambda) + (\alpha-1)(\beta(\lambda-a) + \alpha\delta))^m} a_k(\alpha)$$

for  $k \geq 2$  and  $\varphi_1 = 1 - \sum_{k=2}^{\infty} \varphi_k$ . Thus

$$f(z)^\alpha = z^\alpha - \sum_{k=2}^{\infty} |a_k(\alpha)| z^{\alpha+k-1} = f_0(z) - \sum_{k=2}^{\infty} \frac{(B-A)((\mu+\lambda) + (\alpha-1)(\beta(\lambda-a) + \alpha\delta))^m}{(1+B)\Gamma_k((\mu+\lambda) + (\alpha+k-2)(\beta(\lambda-a) + (\alpha+k-1)\delta))^m} z^{\alpha+k-1}$$

$$= f_0(z) - \sum_{k=2}^{\infty} [z^\alpha f_k(z)] \varphi_k = \sum_{k=2}^{\infty} \varphi_k f_k(z)$$

this completes the proof.

**Theorem 6** If a function  $f$  belongs to the class  $T_n^\alpha(\theta, q, s, \mu, \lambda, \delta, a, \beta, A, B)$ , then  $f$  is convex of  $\xi$  ( $0 \leq \xi < 1$ ) in the disk  $U(r^c)$  where

$$r^c := \inf_{k \geq 2} \left\{ \frac{(1-\xi)(B-A)((\mu+\lambda) + (\alpha-1)(\beta(\lambda-a) + \alpha\delta))^m}{k(k-\xi)(1+B)\Gamma_k((\mu+\lambda) + (\alpha+k-2)(\beta(\lambda-a) + (\alpha+k-1)\delta))^m} \right\}^{\frac{1}{k-1}} \quad (24)$$

and  $\Gamma_k$  is defined by (8). For  $\theta = \pi$ , the result is sharp that is

$$R^c(T_n^\alpha(\pi, q, s, \mu, \lambda, \delta, a, \beta, A, B)) = r^c$$

where  $r^c$  is defined by (24).

**Theorem 7** If a function  $f$  belongs to the class  $T_n^\alpha(\theta, q, s, \mu, \lambda, \delta, a, \beta, A, B)$ , then  $f$  is starlike of  $\rho$  ( $0 \leq \rho < 1$ ) in the disk  $U(r^*)$  where

$$r^* := \inf_{k \geq 2} \left\{ \frac{(1-\rho)(B-A)((\mu+\lambda) + (\alpha-1)(\beta(\lambda-a) + \alpha\delta))^m}{(k-\rho)(1+B)\Gamma_k((\mu+\lambda) + (\alpha+k-2)(\beta(\lambda-a) + (\alpha+k-1)\delta))^m} \right\}^{\frac{1}{k-1}} \quad (25)$$

and  $\Gamma_k$  is defined by (8). For  $\theta = \pi$ , the result is sharp that is

$$R^*(T_n^\alpha(\pi, q, s, \mu, \lambda, \delta, a, \beta, A, B)) = r^*$$

where  $r^*$  is defined by (25).

## REFERENCES

- [1] S. Abdul-Halim, On a class of analytic functions involving the Salagean differential operator, Tamkang Journal of Mathematics, Vol. 23, No.1, 51-58, 1992.
- [2] F.M. Al-Oboudi, On univalent functions defined by a generalized Salagean operator, International Journal of Mathematics and Mathematical Sciences, No.27, 1429-1436, 2004.
- [3] A. Al-Shaqsi, M. Darus and O.A. Fadipe-Joseph, A new subclass of Salagean-Type Harmonic univalent functions, Hindawi Publishing Corporation: Abstract and Applied Analysis Vol 2010, Article ID 821531, 12 pages, 2010.
- [4] Amourah and Darus, Some properties of a new class of univalent functions involving a new generalized differential operator with negative coefficients, Indian Journal of Science and Technology, Vol 9, No.36, 2-8, 2016. DOI:10.17485/ijst/2016/v9i36/97738.
- [5] B.C Carlson and D.B. Shaffer, Starlike and prestarlike hypergeometric functions, SIAM J.Math. Anal N0.15, 737-745, 1984.
- [6] M Darus and F.I. Ibrahim, On subclasses for generalized operators of complex order, Far East Journal of Mathematical Sciences, Vol.33(3), 299-308, 2009.

- [7] J.Dziok and H.M. Srivastava, Some subclasses of analytic function with fixed argument of coefficients associated with generalized hypergeometric function, *Advanced studies in contemporary Mathematics*, Vol.5, No.2, 115-125, 2002.
- [8] Y.E. Hohlov, Operators and operations in the class of univalent functions, *Izv.Vys.Ucebzn.Zaved Matematika*, Vol.10, 83-89, 1978.
- [9] A.T. Oladipo and S.O. Olatunji, On a certain subclass of Bazilevic function defined by Catas operator, *Int.J.of Mathematical Sciences and Applications*, Vol.1, No.1, 2011.
- [10] T.O. Opoola, On a new subclasses of univalent functions, *Mathematicae Cluj* (36) 59 (2) 195 - 200, 1994.
- [11] J.S. Ratti, The radius of univalence of certain analytic functions, *Math.Zeitschr*, Vol.107, 241-248, 1968.
- [12] S.Ruscheweyh, New Criteria for univalent functions, *Proc. Amer. Math.Soc.*, Vol.49, 109-115, 1975.
- [13] G.S. Salagean, Subclasses of univalent functions, *Complex Analysis - Fifth Romania Finish Sem part Proc. Bucharest Lecture Notes in Math* 1013 362 -372, 1981.
- [14] S.R. Swamy, Inclusion properties of certain subclasses of analytic functions, *International Mathematical Forum*, Vol.7, No. 36, 1751-1760, 2012.

S.O. OLATUNJI

DEPARTMENT OF MATHEMATICAL SCIENCES, FEDERAL UNIVERSITY OF TECHNOLOGY, AKURE, +2348038370446,  
*E-mail address:* olatunjiso@futa.edu.ng

AWOLERE I.T.

DEPARTMENT OF MATHEMATICS, ALAYANDE COLLEGE OF EDUCATION, OYO, OYO STATE, +2348035316832,  
*E-mail address:* awolereibrahim01@gmail.com